490191 - CS 70 EB

273 272

oSO 17 252 96 253
B
2 \ 246

= T



490191 - CS 70 EB




490191 - CS 70 EB




490191 - CS 70 EB

Pos. |[No.
1 10435240 -
2 10711281
3 482110
4 448234
5 228566 M6
6 447262
7 488160 -
8 449080
9 228546 6,4 mm
10 450682 M6 x 12
11 448233
12 772405 M6 x 10
13 449888 M6 x 12
14 458753 EU
15 458756
16 458613
17 219075 - M4 x16
18 228584 - 3,5x14 mm
19 455695
20 447703
21 228509 - M4 x12
22 490211




490191 - CS 70 EB

Pos. |[No.
23 447768
24 447704
25 XXX
26 439288
27 449273
28 400428
29 XXX
30 XXX
31 448236
32 458614
33 488139
34 447528
35 487568
36 448477
37 400444 - 2,5x8mm
38 448236
39 222490
40 488138
41 488137
42 448178
43 450683 M8 x 25
44 446974




490191 - CS 70 EB

Pos. |[No.
48 487569
49 400286
50 446669
51 449122
52 447789
53 447263
54 702066
55 488140
56 200128 M6 x 25
57 447534
58 200735 M8
59 200719 M8
60 488523
61 400309 M8 x 75
62 465883
63 499888
64 465163
65 499889
66 701230
67 XXX
68 448251
69 448118




490191 - CS 70 EB

Pos. |[No.
81 450935
82 488152
83 460737
84 228612 M6 x 20
85 449159
86 448695
93 487681 230V
94 447584
95 487466 Poti
96 219031 - 3,5 x10 mm
98 446588
99 488155
100 219068 - 3,5x25mm
101 447115
102 488151
103 446370 M8 x 15
106 444235
107 450055
108 488149 -
109 488150
110 228582 - M4 x10
111 219855




490191 - CS 70 EB

Pos. |[No.
112 789595 -
114 400467 -
115 445880
118 446473
119 447962
120 446469
121 488135
122 401165
123 446937
124 445878
126 491936
127 771483
128 449203
129 789775 -

130 10666107

131 202846
132 400254 -
133 446474
134 488465
135 200414
137 446704

138 202824 M5 x 18



490191 - CS 70 EB

Pos. |[No.
139 200717 M5
140 446147
141 488148 -
142 219075 - M4x16
143 202847
144 400253 DU-
145 400097
146 400253 DU-
147 446146
148 487467
149 447750
150 488134 (pair) 230V
151 488136 (pair) 230V
152 446309
153 493503 230V
154 438613
155 228559
156 493504 230V
157 219021
158 469886
159 400264 - 5,0x 80 mm
160 486880




490191 - CS 70 EB

Pos. |[No.
161 400488 O-
162 400255 - M5x40
163 200719 M8
164 400259
165 445877
166 451454
167 488153 230V
168 447968 -
169 488154
171 482934 M6 x 22,5
172 449830
173 447997
174 447995
175 447996
176 488440
177 442413 O-
178 448694
179 XXX
180 XXX
181 431899
182 445927
183 774346 M8 x 16




490191 - CS 70 EB

Pos. |[No.
184 710662
185 488158
186 209354 M6 x 14
187 445926 -
188 447555
190 447358
191 446528
192 447702
193 200615
194 400287
201 - -

202 10711280

203 465708 CS70

204 10023711

205 10699976

206 488156
207 400348 - M4x6
208 448065
209 448471
210 487755
211 440713

212 219043 M4 x 8



490191 - CS 70 EB

Pos. |[No.

213 464525

214 200684 M6 x 12
215 489181

218 228692 5x12 mm
219 228534 M6 x 40
220 448066

221 488433

222 10031568

223 487893

224 400289 6 x 36 mm
225 448064

226 483350 M6

227 459250 @27x2m
228 459251 @36x15m
229 450575 Y-

230 488868

231 488867

232 488870

233 497195

234 228653 M6 x 40
235 400257 - M4 x25

236 400382 M8 x 60



490191 - CS 70 EB

Pos. |[No.
237 452358
238 487555
239 446467
240 446063
241 447577
242 447263
243 449868
244 449869
245 202824 M5 x 18
246 449928
247 488159
248 228541 M6
249 200588
250 400884
251 488271
252 446470
253 446472
254 446468
255 451917
256 451918
257 496821
258 447961




490191 - CS 70 EB

Pos. |[No.
259 496820
260 200618
261 488869
262 446072
263 447702
264 228567 - 4,0x20 mm
265 447263
266 465449
267 400260
268 446671
269 228542 4,3 mm
270 488147
271 497196
272 200719 M8
273 228601 8,4 mm
274 450199
275 450158
276 492132




